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® Output: Permutation (reordering) e sl yial L

F r F
(ﬂl’ﬂ:! tii,ﬂﬂ)

suchthat @y <ay <...<4a

38 bols sgmgoae Nl Sace S cad jo X sae Ll aSo) ey @
doly> 5" bl Gl D50 Gl 5 50 9 Tal” sl 029 D50
g

Y e = a3 5b )l e o oyl Ao 9 Joloo « 2L
5l sloles



il oo Jlaws 5l oS Sl siiwn b el b ol a5 Lo %
ol )b a0 polie 5l cols Cluis! o :alicuo 4 gl
3 Al Lawgs oad ooy g el allis diges S o ol
Alss diged
N=7,S={A Y, 3 Y 1} ) dloes aiges ®
{8, Y, AV« 1Y Y] > ol o

AY e — las bl o do o oSl o g Jedo ¢ )8
solbre slaoles



. * . . . of o . & ol . N¢

) Ca)d (75,5 0699, 3l Aiged ;o (sl Wilgin (pain oSl amilin
2ol (COFTrect) cos,o o, sl )] el idgio g aiS ol

. & . o N e . . & * ¢ o . 0

SOl oo ail JymS JB ol sla o5 )58l sllas & 5 azlin
5,5 oolaiwl o Lyl

Y e = a3 5b )l e o oyl Ao 9 Joloo « 2L
5l sloles



ol JalS o gl ol g iy )

(Al J> slo g,y adS ow)yp) 398 e > slp oo SO (2908 g anseis -
ooy ol o olwl rg.’b“)?ﬂ‘ 6~>|).L> -Y

oo,y Covo bl g (w2 -F

Ol Sz 2Ll g p Xl Jdos -0
& slwaali p sla by 3l eolaiwl b p:g“)g.f)\ & slwosls —F

Y e = a3 5b )l e q o oyl Ao 9 Joloo « 2L
5l sloles



Ao Jo b g

(Divide & Conquer) J> g pewds Lo,
(Greedy) ala; > s,

(Dynamic Programming) Ly e giask p ybg,%*
Back Tracking) cac 4 casil s,%

Branch & Bound) o> 5 asls j3g,%°

AY e — las bl o . do o oSl o g Jedo ¢ )8
solbre slaoles



ez S 6 (SN o)) ko O3 K Lo 5 02 S s 25 =) 0
&;,w‘

S o C g LN Wk gole Jle Ol g 4
b 0 4 b o oS s cles 0
oz L e ysSIl S0 g RBsl (pogr JSudes
s aelp by SO a4 ol des 5 os IS

(S sS 5 0leT (slapz s s8N (1) Sl g a5 o5 S (SIS talas =Y 8

oL 4 ool cals 5 (Pseudo Code) oS as jlestial b il —¥
Syl JSl 5 C

AY e — las bl o . do o oSl o g Jedo ¢ )8
solbre slaoles



31 oolasiw! b yiliow 79009 b 1y Jol po puiloss o5 o 08 anls yo

AARO (SO ul*“‘ s’*‘*&' Olxusgd g s“’l’) kulg,
if (low < x < high ) {

j

exchange x and y ;

void segSearch (int n, const keyType s[], keyType x, index& location)

{
location = 0;
while(location < n && s[location] = x)
location++;
ifl location > n)
location =-1;
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number surnz ( int 72, const number S[ ])
index 7;
number resul/r;

result= 0 ;

for (7= 1; 1<= n;, )
result= result+ S|1] ;

return result;
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void matrixmult ( int n,
const number A[ ][ ],
const number B[ ][ ],
number C'[ [ ])
{
index 1, /, k;
for (71=1;71<=m )
for (j=1;7<=m j++)
CL7]1[/1=0;
for (k=1; k<= m, k++)
CLil[/1=Cl1/1+ AL/ &]* B[ k][/]:
)

va e o )sSl ad e 5 Ll ¢ oI
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void exchangesort ( int n, keytype S| |)
d

index 7, s;

for (7i=1;7<=n-1; A+)
for (yj=1+1; 7<= n, j++)
it (S <S1M4)
exchange S[7] and S'[/];
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Void segsearch ( int n, const keytype S|
], keytype X,
index &location)

{
location = ;
)while (location <= n && S[location] !
= X
location++;
iIf (location > n)
location = - ;
}
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Binary search <

void binsearch ( int n,
const keytype S| ],
keytype x,
index& Jocation)

index Jow, high, mid

low=1; high= n;
location= 0 ;

while ( low <= high && location ==

mid= | ( low+ high)/2 ] ;
if (x== 8[mid])

location = mid
else if ( x< S[mid])
high= mid—1 ;

else
low = mid+ 1 ;
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int 77162 ( int n)
{
int 710 .. nj ;
f10]=0;
it (n>0) {
f11]=1;
for (71=2; 1<= n;, F+)
114 = 17-1]+ f[7-2];
b

return £n] ;
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Function fib2(n)
1461
160
for k<1 to n do
jeit]
1671
end
return (J)
end

AV o = o)k L o

function fib3(n)

11
]j<0
k<« 0
h« 1
While n>=0 do
If n 1sodd
Then [t <« j.h
j<1th+jk+t
1 1.k +1]
t < h?
h<«2hk+t
k< kK +1
n< ndv?2
end
Return (j)
End
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1) Procedure Smaxmmn( A.n,max.min )
2)  Max.mm « A(])
3)  For 142 ton do

4) If A(1)>max

5) Then max « A(1)
0) If A1) <mm

7) Then mimn « A(1)
§)  End

9) End
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8 n-1
9 1
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(1) ?H Factorial( int n ) AR K
(2) int fact=1: 2 C, \
(3) for(mt 1=2 :1<=n.1++ ) : C .
(4) fact*=1: CT
(5) return fact : 4 A n-)

b 5 C, '1

T(n)=C, +Cn+C.(n—)+C
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Forallreala > 0,h > 0,¢ > 0, and n,

Iﬂ:.-'_:'l'jg] = 0
a = b
loggB = 1
oeE log.(ab) = log.a+log.b,
logg(X # Y) = loggX +loggY log, at = nlog,a,
log, X" = Y * log,X logya = log, a :
. log, b
log ,.X = “5s logy(l/a) = —logya,
' (logpA) l
loc,a = :
Eb log, b
lgn = log,n (binary logarithm) . at = ¢,
Inn = log,n (natural logarithm)
lg¥n = (lgn)* (exponentiation) . alogg . nlogg vy logn—

lglgn = lg(lgn) (composition) .
(Iog r])Iogn _ r]Ioglogn ¢ logn _ ¥
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(Exponential) 2l @195 o g

For all real @ > 0, m, and n, we have the following identities:

a’® = 1,
a' = a,

a' = l/a,
@)" = a"",
(@)* = (@")",
aa" = a™™".

For all n and @ > 1, the function a" is monotonically increasing in 1.
convenient, we shall assume 0° = 1.
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void insertionSort(int n, int a[]) E)FY ol Olasds
{ _ _
for(intj=2;j<=n; j++) Cy n
{ _ -
// Insert a[j] into the sorted sequence a[1..j-1]. 0 n-1
int key = a[j]; (o n-1
inti=j—1; c, n-1
while(i > 0 && a[i] > key) Cs 2l
{ _ _
afi+1] = allil; s 7LD
i--; C7 Z?:: #-D
} - -
ali+1] = key; Cq n-1
} _ _
} _ -

5)> S)wadye shal pols) JS

T(n) =C'ln+cj(n—l)+c4(n—l)+csz.f_}. +Cﬁz(f}. —l)+CTZ(1j D+ (n—=1)
j=2 j=2 j=2
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T(n)=cln+c_%(n—l)+c_‘(n—l)+cﬁi:fj+c‘6i(f_f.—l)-+-cgi:(fj—l)+cs(h'—l)
>
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I'(m)y=cn+c,(n=D+c,(n=D+c.(n=1)+c,(n-1)
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I'(n)y=cn+c,(n— l)+c4(n—l)+c<z.r +c, Z(f -1 +c, Z(f —D+c(n—1)
(Worst case)qb u,)m o

4| @Uooww,ﬁ,@u@mwua[ﬂ,M,QU}@QJ\P
O&ww.uoaf J-V]

t_]=J m)‘dj=v,v,...,n LS‘)'.’ u.").’l.A—’ ’0’

n(n+1) n(n—1) n(n—1)

T(n)y=cn+cy;(n—1)+c,(n—1)+c.(

—1)+c4( )+ (

) +c(n—1)

c. ¢, ¢
= (Z2+S+ D+ (g +e o +——S5 T Ltcgn—(c;+cy+05+¢)

2 2 2 2 2 2
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Jj=2 Jj=2 Jj=2
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3-2  Relative asymptotic growths
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Indicate, for each pair of expressions (A, B) in the table below, whether A is O, o,

(2, w,or ®of B, Assume that k =

o

), and ¢ > | are constants. Your answer

should be in the form of the table with “yes” or “no” written in each box.
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